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Use your tools to draw a square in the space below. Then, fill in the blanks with an attribute. There is more
than one answer to some of these.

a. Because a square is a kite, it must have M.Me‘d‘ S\WS [A[4 "l’l’\é D lé"ﬂ'“\.

b. Because a square is a rhombus, it must have ﬁuf etiua.l Qldzg

. Becnuse squre sarecongle, st rove 2OUC ¥ Tkt analles

d. Because a square is a parallelogram, it must have O@Qﬁd‘g S‘des a2 mfa(le(

e. Because a square is a trapezoid, it must have 0“' \QGS‘} 244 Palf o@ Dﬂ(ﬁ"@[ S\dv?So
f.  Because a square is a quadrilateral, it must have -er S\AZS

EUREKA Lesson 20: Classify two-dimensional figures in a hierarchy based on properties. 291
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